C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263 + 8=3217 182+6=2915
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 19 2@ |3

1) 145:3=48r2

3) 283+2=141

5 597+7=66r3

7) 103+3=34r1

9 742+:9=185r2

2) 842+3=210r2

4) 631+4=157r3

6) 785+6=130r1

8) 391+6=65r1

10) 359+2=179r1

10.
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2, not
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 145:3=48r2 43 2) 842+3=210r2 210 4 __correct
x 3 x 3 5. not
144 630
+ 2 + 2 6. not
146 632 ‘
_ correc
3) 283+2=141 141 4) 631+4=157r3 157 !
x _2 X _4 8. correct
282 628
_ﬁ _ﬁ correct
10.
5 597<7=66r3 66 6) 785+6=130rl1 130
x 7 X 6
462 780
+ 3 + 1
465 781
7) 103+3=34r1 34 8 391+6=65r1 65
x 3 X 06
102 390
+ 1 + 1
103 391
9 742+9=185r2 185 10) 359+2=179r1 179
X 9 x 2
1665 358
+ 2 + 1
1667 359
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